Linearized oscillations for difference equations

V. Lj. KOCIC* and G. LADAS (Received October 10, 1990)

1. Introduction and preliminaries

We obtain necessary and sufficient conditions for the oscillation of all solutions of the nonlinear difference equation

$$x_{n+1} - x_n + f(x_{n-k_1}, \dots, x_{n-k_m}) = 0, \qquad n = 0, 1, 2, \dots$$
 (1)

in terms of the oscillation of all solutions of an associated linear difference equation.

Let N denote the set of nonnegative integers $\{0, 1, ...\}$. Throughout this paper we will assume that

$$k_1, k_2, \dots, k_m \in N, \qquad f \in C[\mathbf{R}^m, \mathbf{R}]$$
(2)

$$\begin{cases}
f(u_1, ..., u_m) \ge 0 & \text{ for } u_1, ..., u_m \ge 0, \\
f(u_1, ..., u_m) \le 0 & \text{ for } u_1, ..., u_m \le 0, \\
f(u_1, ..., u_m) = 0 & \text{ if and only if } u = 0.
\end{cases}$$
(3)

and

We will also assume that the following hypothesis holds:

(H) There exists $\delta > 0$ such that f has continuous first partial derivatives, $D_i f$, for all $u_1, \ldots, u_m \in [-\delta, \delta]$ such that

$$D_i f(0, ..., 0) = p_i$$
 for $i = 1, ..., m$ (4)

with

$$p_1, \dots, p_m \in (0, \infty)$$
 and $\sum_{i=1}^m (p_i + k_i) \neq 1$. (5)

Furthermore,

either

or

$$f(u_1,\ldots,u_m) \le \sum_{i=1}^m p_i u_i \qquad for \quad u_1,\ldots,u_m \in [0,\delta]$$
(6)

$$f(u_1,\ldots,u_m) \ge \sum_{i=1}^m p_i u_i \qquad for \quad u_1,\ldots,u_m \in [-\delta,0].$$
(6')

^{*} On leave from the Department of Mathematics, Faculty of Electrical Engineering, University of Belgrade, 11000 Belgrade, Yugoslavia

Let $k = \max\{k_1, \ldots, k_m\}$. By a solution of Eq. (1) we mean a sequence $\{x_n\}$ which is defined for $n \ge -k$ and which satisfies (1) for $n \ge 0$. Let a_{-k}, \ldots, a_0 be given real numbers. Then Eq. (1) has a unique solution $\{x_n\}$ which satisfies the initial conditions

$$x_i = a_i$$
 for $i = -k, ..., 0$.

A solution $\{x_n\}$ is said to oscillate about x^* if the terms $x_n - x^*$ of the sequence $\{x_n - x^*\}$ are neither eventually positive nor eventually negative. When $x^* = 0$, we say that $\{x_n\}$ oscillates about zero or simply that $\{x_n\}$ oscillates.

Linearized oscillation results for difference equations with "separable delays" of the form

$$x_{n+1} - x_n + \sum_{i=1}^{m} p_i f_i(x_{n-k_i}) = 0, \qquad n = 0, \ 1, \ 2, \dots$$
(7)

were obtained in [2]. The results in this paper extend the results in [2] and have a wider range of applicability.

For some recent developments in the oscillation of difference equations, see [2]-[6] and the references cited therein.

The following two lemmas from [2] will be needed in the proofs of the main result in Section 2.

LEMMA 1. Consider the difference inequality

$$x_{n+1} - x_n + \sum_{i=1}^{m} P_i(n) x_{n-k_i} \le 0, \qquad n = 0, \ 1, \ 2, \dots$$
(8)

and the difference equation

$$y_{n+1} - y_n + \sum_{i=1}^m p_i x_{n-k_i} = 0, \qquad n = 0, 1, 2, \dots$$
 (9)

where

$$\lim_{n \to \infty} \inf P_i(n) \ge p_i > 0 \quad \text{for} \quad i = 1, 2, \dots, m,$$

$$k_i \in N \text{ for } i = 1, \dots, m \quad \text{and} \quad \sum_{i=1}^m (p_i + k_i) \ne 1.$$

Suppose that (8) has an eventually positive solution. Then Eq. (9) also has an eventually positive solution.

LEMMA 2. Let $\{c_n\}$ be a solution of the difference inequality

$$C_{n+1} - C_n + \sum_{i=1}^m p_i C_{n-k_i} \ge 0$$
 for $n = 0, 1, ..., N_1 - 1$

with initial conditons

$$C_n = \theta \lambda_0^n$$
, for $n = -k, \dots, 0$

where

$$p_i \in (0, \infty)$$
 and $k_i \in N$ for $i = 1, ..., m$ are such that $\sum_{i=1}^{m} (p_i + k_i) \neq 1$,
 $N_1 \in N$ with $N_1 \ge 1$, $\theta \in (0, \infty)$, $k = \max\{k_1, ..., k_m\}$

and λ_0 is a positive root of the equation

$$\lambda - 1 + \sum_{i=1}^m p_i \lambda^{-k_i} = 0$$

Then

$$C_n \geq \theta \lambda_0^n$$
 for $n = 1, 2, \dots, N_1$.

2. Linearized oscillations

Consider the nonlinear difference equation (1) and assume that the conditions (2) and (3) and hypothesis (H) are satisfied.

With equation (1) we also associate the linear equation

$$y_{n+1} - y_n + \sum_{i=1}^m p_i y_{n-k_i} = 0$$
, $n = 0, 1, 2, ...$ (10)

and its corresponding characteristic equation

$$\lambda - 1 + \sum_{i=1}^{m} p_i \lambda^{-k_i} = 0.$$
 (11)

It is a known fact, see [3], that every solution of a linear difference equation with constant coefficients oscillates if and only if its characteristic equation has no positive roots.

The main result in this section is the following theorem which relates the oscillation of the nonlinear difference equation (1) to the oscillation of the linear difference equation (10).

THEOREM 1. Assume that conditions (2) and (3) hold and that the hypothesis (H) is satisfied. Then every solution of Eq. (1) oscillates if and only if every solution of the associated linear equation (10) oscillates.

PROOF. Assume that every solution of Eq. (1) oscillates and that, for the sake of contradiction, Eq. (10) has a positive solution $\{y_n\}$. Suppose that

(6) holds. The case where (6') holds is similar and will be omitted. Then Eq. (11) has a positive root λ_0 . As $p_i > 0$ for i = 1, ..., m, it follows that $\lambda_0 \in (0, 1)$. Let $\{x_n\}$ be the unique solution of Eq. (1) with initial conditions

$$x_n = \theta \lambda_0^n$$
, for $n = -k, \dots, 0$

where $k = \max\{k_1, \dots, k_m\}$ and $\theta = \delta \lambda_0^k$.

The proof will be complete if we show that

$$x_n > 0$$
 for $n = 1, 2, ...$ (12)

which would be a contradiction because, by hypothesis, every solution of Eq. (1) oscillates. To this end, assume that, (12) is false and therefore there exists $N_1 \ge 1$ such that

$$x_n > 0$$
 for $-k \le n \le N_1 - 1$ and $x_{N_1} \le 0$.

Then, from Eq. (1) see see that

$$x_{n+1} < x_n$$
 for $0 \le n \le N_1 - 1$

and so

$$0 < x_n < x_0 = \theta = \delta \lambda_0^k < \delta \quad \text{for} \quad 0 \le n \le N_1 - 1 \; .$$

Then, by using (6), we obtain

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} \ge 0$$
, for $n = 0, 1, ..., N_1 - 1$.

By Lemma 2 this implies that

$$x_{N_1} \ge \theta \lambda_0^{N_1} > 0$$

and this contradiction completes the proof of the first part of the theorem.

Conversely, assume that every solution of Eq. (10) oscillates. We should prove that every solution of Eq. (1) also oscillates. Otherwise, Eq. (1) has a nonoscillatory solution $\{x_n\}$. We will assume that $\{x_n\}$ is eventually positive. The case where $\{x_n\}$ is eventually negative is similar and will be omitted. Then, one can easily see that

$$\lim_{n \to \infty} x_n = 0. \tag{13}$$

Now observe that in view of (3) and the mean value theorem for a functions of m variables,

$$f(x_{n-k_1}, \dots, x_{n-k_m}) = f(x_{n-k_1}, \dots, x_{n-k_m}) - f(0, \dots, 0)$$
$$= \sum_{i=1}^m D_i f(\Theta x_{n-k_1}, \dots, \Theta x_{n-k_m}) x_{n-k_i}$$

where $\Theta \in (0, 1)$. Set

 $P_i(n) = D_i f(\Theta x_{n-k_1}, \ldots, \Theta x_{n-k_m})$ for $i = 1, \ldots, m$ and $n \in N$.

Then from (4) and (13) and by the continuity of the partial derivatives of f,

$$\lim_{n \to \infty} P_i(n) = p_i \quad \text{for} \quad i = 1, \dots, m.$$
 (14)

Therefore Eq. (1) can be written in the form

$$x_{n+1} - x_n + \sum_{i=1}^m P_i(n) x_{n-k_i} = 0$$
.

In view of (14), we see that the hypotheses of Lemma 1 are satisfied and so, the associated linearized equation (10) has an eventually positive solution. This is a contradiction and the proof of the theorem is complete.

From the second part of the proof of Theorem 1, it follows that a sufficient (but not necessary) conditions for the oscillation of all solutions of Eq. (1) is given by the following corollary.

COROLLARY 1. Assume that (2) and (3) hold and that there exists $\delta > 0$ such that f has continuous first partial derivative, $D_i f$, for all $u_1, \ldots, u_m \in [-\delta, \delta]$ such that (4) and (5) are satisfied. Suppose also that the characteristic equation (11) of the associated linearized equation (10) has no positive roots. Then every solution of Eq. (1) oscillates.

REMARK 1. One can show that, instead of assuming that $f \in C[\mathbb{R}^m, \mathbb{R}]$, we can only assume that there exists some interval I containing the point 0 such that $f \in C[\mathbb{I}^m, \mathbb{R}]$ and such that the function g which is defined by

$$g(u_0, u_1, \dots, u_m) = u_0 - f(u_1, \dots, u_m)$$
 when $\min\{k_1, \dots, k_m\} > 0$

and by

$$g(u_1, ..., u_m) = u_j - f(u_1, ..., u_m)$$
 when $\min\{k_1, ..., k_m\} = k_j = 0$

is such that

 $g \in C[I^{m+1}, I]$ and $g \in C[I^m, I]$, respectively.

In this case, the solutions of Eq. (1) will also be assumed to have initial conditions chosen from the interval I.

3. Application

In this section we present an application of our results to equations which have appeared in neural networks. It should be mentioned that the linearized oscillation theory which was developed in [2] does not apply because the delays in this case are not "separable".

The following difference equations, see [1], [8] and [9],

$$X(t + 1) = AX(t)(1 - X(t) - X(t - 1)),$$

$$X(t+1) = AX(t)(1 - X(t) - X(t-1) - X(t-2))$$

and

$$X(t + 1) = AX(t)(1 - X(t) - BX(t - 1))$$

where

$$A \in (1, \infty)$$
 and $B \in (0, \infty)$

have been used as appropriate recurrence relations for the activity, X(t), of mutually connected neural networks.

Let us consider the more general difference equation

$$x_{n+1} = A x_n \left(1 - \sum_{i=0}^m B_i x_{n-i} \right),$$
(15)

where

$$m \in N, A \in (1, \infty)$$
 and $B_i \in (0, \infty)$ for $i = 0, \dots, m$. (16)

Eq. (15) has a unique positive equilibrium x^* and x^* is given by

$$x^* = \left(\sum_{i=0}^{m} B_i\right)^{-1} (A-1)/A .$$
 (17)

Set

$$x_n = y_n + x^* \quad \text{for} \quad n \le -m \,. \tag{18}$$

Then Eq. (15) reduces to the difference equation

$$y_{n+1} - y_n + A(y_n + x^*) \left(\sum_{i=0}^m B_i y_{n-i}\right) = 0$$
(19)

and $\{x_n\}$ oscillates about x^* if and only if $\{y_n\}$ oscillates about zero.

We are interested in the oscillations of all positive solutions of Eq. (15) about x^* . From (18) we see that if $x_n > 0$ for $n \ge -m$ then

$$y_n > -x^*$$
 for $n \ge -m$.

Set

$$f(u_0, ..., u_m) = A(u_0 + x^*) \left(\sum_{i=0}^m B_i u_i \right),$$

$$g(u_0, ..., u_m) = u_0 - f(u_0, ..., u_m),$$

100

and

$$I = (-x^*, x^*/(A-1)).$$

Now if we also assume that

$$1 < A \le 4B_0 \left(\sum_{i=0}^{m} B_i\right)^{-1},$$
(20)

then one can show that $g: I^{m+1} \to I$. Also

$$D_i f(0, ..., 0) = A x^* B_i$$
 for $i = 0, ..., m$

and the linearized equation associated with Eq. (19) is

$$z_{n+1} - z_n + Ax^* \sum_{i=0}^m B_i z_{n-i} = 0, \qquad n = 0, 1, 2, \dots$$
 (21)

with the characteristic equation

$$\lambda - 1 + Ax^* \sum_{i=0}^{m} B_i \lambda^{-i} = 0.$$
 (22)

Clearly, conditions (4), (5), and (6') are satisfied and so by Remark 1 and Theorem 3 the following result is true.

THEOREM 2. Assume that conditions (16) and (20) are satisfied. Then every positive solution of Eq. (15) with initial conditions $x_{-m}, \ldots, x_0 \in$ $(0, Ax^*/(A-1))$ oscillates about the positive equilibrium x^* if and only if Eq. (22) has no positive roots.

References

- [1] A. Brown, A second order non-linear recurrence relation, Goeffrey T. Buttler Memorial Conference on Differential Equations and Population Biology, June 20-25, 1988, University of Alberta, Edmonton, Canada.
- [2] I. Gyori and G. Ladas, Linearized oscillations for equations with piecewise constant arguments, Differential and Integral Equation 2 (1989), 123-131.
- [3] I. Gyori, G. Ladas, and L. Pakula, Conditions for the oscillation of difference equations with applications to equations with piecewise constants arguments, SIAM J. Math. Anal. 22 (1991), 769-773.
- [4] G. Ladas, Recent development in the oscillation of delay difference equations, International Conference in Differential equations; Theory and Applications in Stability and Control, Colorado Springs, Colorado, June 7-10, 1989.
- [5] G. Ladas, Explicit conditions for the oscillation of difference equations, J. Math. Anal. Appl. 153 (1990), 276-287.
- [6] G. Ladas, Ch. G. Philos and Y. G. Sficas, Necessary and sufficient conditions for the oscillation of difference equations, *Libertas Math.* 9 (1989).

- [7] M. C. Mackey and L. Glass, Oscillations and chaos in physiological control systems, Science 197 (1977), 287-289.
- [8] Y. Morimoto, Bifurcation diagram of recurrence relation X(t + 1) = AX(t)(1 X(t) X(t 1) X(t 2)), J. Phys. Soc. Japan, 53 (1983), 2460-2463.
- [9] Y. Morimoto, Variation of bifurcation diagram in difference equation X(t+1) = AX(t)(1 X(t) BX(t-1)), (to appear).

Department of Mathematics, The University of Rhode Island, Kingston, R.I. 02881-0816, U.S.A.